Chapter 3.2 Notes
Graph of a Function

1. Use the graph of the function f to answer parts a-n.
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X = -12,-0.¢ Ths esks wnen \=0 (\Wrok s X7

* looking at the graph, you are look for when the
graph is above the x-axis.

* It will be written in a compound inequality.
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* Then keep tracing the graph until it starts to cross

over the graph and go below it. That will be the 2nd
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* Continue to follow the graph, writing down numbers
like instructed.



* To find the domain, start on the left side of the graph.
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* Place your finger where the graph starts and see

what number goes with that point on the x-axis.
Write down that number.

* Trace the graph all the way to the right. Put your
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finger on where it stops and see where that
corresponds on the x axis. This will be your 2nd
number.

* Be sure and place an x between them with and

inequality sign on each side or the x.

* To find the range, start at the bottom of the graph.

* Place your finger where the graph starts and see
what number goes with that point on the y-axis.
Write down that number.

* Then go to the top of the graph. Put your finger on
the highest point and see where that corresponds on
the y axis. This will be your 2nd number.

* Be sure and place a y between them with and
inequality sign on each side or the y.

* look at the x-axis. Write down the number(s)
where the graph crosses the x-axis.

* look at the y-axis. Write down the number(s)
where the graph crosses the y-axis.
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* If you graphed the line y=1, it would be a horizontal
line (going left and right) across the 1 on the y axis.

a * Think, how many times would that line touch (or go
through) the graph.
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* If you graphed the line x=3, it would be a vertical line

D i \ \‘| (going up and down) across the 3 on the x axis.

* Think, how many times would that line touch (or go
through) the graph.
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- \l * This asks when y = -6, what are the values of x.
L\ N L\ * 8o, find the -6 on the y axis, then go left and
right and find at what points are on this line.
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* This asks when y = 9, what are the values of x.
* 8o, find the 9 on the y axis, then go left and
% \o0 gy for Wno¥ U right and find at what points are on this line.
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* Write down the x value of each point.




2. Determine whether the graph on the right is that of a function by using the vertical line test. If it is, use
the graph to answer the questions.
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3. Determine whether the graph is that of a function by using the vertical line test. If it is then answer the
AD

following questions.
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4. Answer the questions about the following function.
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a. Is the point (-2,9) on the graph of f?
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b. If x = 2, what is f(x)? What point is on the graph of f?
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c. If f(x) = -1, what is x? What points are on the graph of f?
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d. What is the domain of f? = Q“Lg - -\

- =, R * Since there is no fraction or square root, the
domain is any real number, written as (- « ,s0).
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* Replace the x’s with 0 and then solve for vy.



5. Answer the questions about the following function.
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a. Is the point (3, - 13/5) on the graph of f?
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b. If x = 4, what is f(x)? What point is on the graph of f?
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c. If f(x) = 2, what is x? What points are on the graph of {?
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* Then cross multiply.
* Now solve for x.
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d. What is the domain of f?
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e. List the x-intercepts, if any, of the graph.
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f. List the y intercept, if there is one of the graph of f.
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